MCMBR?¥* series

MINIATURE CYLINDERS

Mounting

A: Bottom mounting B: Front mounting

Order example

MCMBRA—-11-25-100-G

mindman

Features

l Compact type
The cylinder can be directly mounted without brackets (You
have barckets) the overall length is shorter and so it will fit
into a more confined space. This gives the benefit of saving
space when installing the cylinder.

H Improved strength and accuracy of installation.
H Two installation methods.
B Cylinder can be front mounted, or mounted from

underneath.

HMagnetic as standard.

Specification

MCMBRA, MCMBRB
Tube I.D. (mm) ¢ 20 b 25 ¢ 32 ¢ 40
Port size Rc1/8 Rc1/4
Medium Air
Max operating pressure 1 MPa
Min operating pressure 0.05 MPa
Proof pressure 1.5 MPa
Ambient temperature —5~+4607C (No freezing)
Lubrication Not required

Available speed range 50~500mm/sec

Cushion with rubber cushion pad
Sensor switch (%) RCA, RCM
BA20 BA25 | BA32 | BA40
Sensor switch band BGS20 | BGS25 | BGS32 | BGS40
BM20 | BM25 | BM32 | BM40

¥ RCA, RCM specification, please refer to page V-07, V-11.
¥ Senser switch band BM** only for RCM.

Table for standard stroke

‘ ‘ T Tube I.D. Stroke (mm)
¢ 20, 25, 32, 40 25, 50, 75, 100, 125, 150, 200, 250, 300
MODEL TUBE 1.D. PORT THREAD
Blank: Rc thread
G: G thread
NPT: NPT thread
MOUNTING 1: Single Rod
A: Bottom mounting STROKE
B: Front mounting
STYLE
Code | Symbol Description
1(1 ‘EE:: Double acting / Male thread

mindman




MCMBR* Inside structure & Parts list

MINIATURE CYLINDERS mindman
¢ 20 a9
B L s s s il = L
$ 25 4) (19 1718?@?(? @??%?
\ | s | | = )
: ==
4) (19 17(18 (16 2
s Q? ?ﬁ??
(L |
Material
Tube I.D. , Componentn | Repair kits
e Part name 20 25 32 40 Qy parts (inclusion) | (inclusion)
1 | Rod cover Aluminum alloy 1 )
2 | Head cover Aluminum alloy 1 ()
3 | Tube Stainless steel 1
4 | Piston rod Carbon steel 1
5 | Piston-R Aluminum alloy | %2 1 1 [ )
6 | Piston-H Aluminum alloy | 2 ¥%1 1 [ )
7 | Piston gasket NBR 1 [
8 | Piston packing NBR 1 [ Order example of
9 | Magnet ring Magnet material 1 ° component parts /
10 | Wear ring Teflon + Graphite 1 o repair kits
11| Washer — | x| = 1 ° —
12 | Piston bolt SCM 1 PS ID. Component parts Repair kits
13 | Cover ring NBR 2 [ ] CP-MCMBRA-20
620 PS-MCMB-20
14 | Cushion gasket NBR 2 [ CP-MCMBRB-20
15 | Rod bush Bearing alloy 1 o CP-MCMBRA-25
¢ 25 PS-MCMB-25
16 | Rod packing NBR 1 () () CP-MCMBRB-25
17 | Snap ring Spring steel 1 (] CP-MCMBRA-32
¢ 32 PS-MCMB-32
18 | Washer Carbon steel 1 [ J CP-MCMBRB-32
19 | Rod front nut Carbon steel 2 [ J CP-MCMBRA-40
- ¢ 40 PS-MCMB-40
20 | Port plug Plastic 2 [ J CP-MCMBRB-40

¥ 1.Aluminum alloy %2.Polyurethane 3.Carbon steel

M

¥ Use the same repair kits with MCMB.

mindman




MCMBR* Dimensions / Double acting ¢20~¢40

MINIATURE CYLINDERS mindman
MCMBRA
GA
2-¢LD Y 2.p <GB
£ ; ! B']\ H1 f N
R i i i )
TS Ll ] jm| /
| | &l g = ‘
m
‘ @ ‘ : QI a
| T | T _/
IR (- _/
‘ | ‘ MM AL
LX NA | NB CN
L S+stroke
ZZ+stroke
(mm)
Tug:ﬁ; A (AL B1| D |GA|GB| H |H1 LD LH|LX| MM N [NA|NB| ND
20 | 18 |15.5 13| 8(22| 8|27 5 ¢ 5.5thru, ¢ 9.5 X 6.5depth 15| 21 |M8x1.25 (24 |29 (15 |20_0s
25 | 22 |19.5 17110 (22| 8| 31| 6 ¢ 6.6thru, ¢ 11 X 7.5depth 18 | 25 IM10x1.25(30 (29 (15 [26_J0s
32 | 22 |19.5 17112 (22| 8| 31| 6 . ¢ 9thru, ¢ 14 X 10depth 21| 30 [M10x1.25(34.529 (15 (26 04
40 | 24 |21 22 (14 (2711 [ 34| 8 7 ¢ 11thru, ¢ 17.5Xx 12.5depth | 26 | 38 |M14X 1.5 (42.5|37.521.5|32 oz
Code
Tube D) P S| X|Y|2z
20 [Rc1/8| 76| 39| 12 (103
25 [Rc1/8| 76| 43| 12 (107
32 |Rc1/8| 78| 43| 12109
40 |Rc1/4]104| 49| 15138
MCMBRB
GA GB
4-FF ‘—" 2-P ===
B1 H1
@ i il >
i i T i
& . . - pf
< i !
#%N [ = 52
& . Ciin )
—/
QT & —
MM AL
OFX NA ! NB N
aF S+stroke
ZZ+stroke
(mm)
Tubceoﬁ; A [(AL|B1|D | F FF H(H1| I [ K MM N [NA|NB| ND P S (Zz
20 | 18]15.5 8 | 30 | M5x 0.8 X9depth 27| 5 (28 |5 [M8x1.25 |24 [29 |15 [20_J Rc1/8| 76 (103
25 | 22|19.5 10 | 36 | M6X 1.0 X 11depth 31| 6 [33.5(5 |M10x1.25|30 (29 |15 [26_J0ss Rc1/8| 76107
32 | 22 |19.5 12 | 42 | M6X 1.0 X 11depth 31| 6 [37.5 55(M10Xx1.25|34.5|29 |15 |26 s Rc1/8| 78|109
40 | 24 |21 14 | 52 | M8x1.25X 14depth 34| 8 |46.50 7 |M14x1.5 [42.5|37.5(21.532 gos| Rc1/4 |104 (138
mindman




MCMBR* Installation of sensor switch ¢20~¢40

M

MINIATURE CYLINDERS

Sensor switch: RCA

Sensor switch band: BA**

i A [ B | C|DJ|E
20 | 34 [ 49 | 8 | 16 [ 26
25 [ 37 [ 55 | 8 | 16 | 26
32 |40 [ 62| 8 | 16 | 26
40 [ 44 [ 71 ][ 8 | 16 [ 26

Sensor switch: RCA

Sensor switch band: BGS**

mindman

Code

Tube |.D> A B c D E
20 25 40 18 30 26
25 255 [ 435 | 185 | 335 | 26
32 29 50.5 | 22 395 | 26
40 | 33 60 26 475 | 26

" ]

Sensor switch: RCM

Sensor switch band: BM**

=]

el Al B| C| D|E
20 22 37 10 16 28
25 25 43 10 16 28
32 28 50 10 16 28
40 32 59 10 16 28

mindman




	1_Specification
	2_Inside structure
	3_Dimensions
	4_Installation of sensor switch

